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from pyscf import gto

mol
mol
mol

mol.
.atom = [["Li", (0.0, 0.0, 0.0)],["H", (0.0, 0.0, 1.5)]]
.build()

mol
mol

= gto.Mole()

.basis = "sto-6g"
.verbose = 0

spin = 0

import freqerica

result = freqerica.kernel (mol, norb=5, nelec=2)

1. AA771)LDH (sample.py)

$ python example.py

M2 . BEELLY 777 DOETH

HAZ771IIEhtMIEXOXETHD, EfTSncyIal—YarosEle. B
BIXRIF—DHERERERINENIS B D, (K3)

Estimated eigenenergy

1.0
o9
o8
o7
o6
o5
o4

104 s o3

&

\é\

o> o 00

3?
2

) 0% < it - T T
7.6 7.4 7.2 7.0 -6.8 6.6

X3. HA7710ILDOH (result.html. TXRILF—DHEEFERLSD)

2



BE. RXYITRT 2 7ABBTOREDRNIFRAD K SICE>TWD,

NFEDEAE /A% I\ VEEFORRICEH
> PySCF/Openfermion%, BXFD > 735 = FlIA
BFRE|VYORBBEREI = exp(-iHNEY I 2 L—h
+18B8R8 % () = (PP (0) ZETE
> Qulacs% #|FH
> DFRIMEEFIBUETE Y NEEIR
> OEBUNZ LN Z 7 VI KB IBER (~T — M) HIR %z # IR AT

7— ) IZH/ Pronyk CEB I RILF—E&HE ]
EERE R E S |

X4.YV 7o 7RETOUNIE

4. FRRME - B

RKYTZ7hUx7F "FEEE. (GHIVE21—FZRVCRERD) EFLFE
BERAKROERGAN) 252, "MTOONY RZR{TI LT T TBEIXRIL
F—OHEZITV., BREZAKRCLTHEAT S EWSKEHZED D, REDEZ
5. INSORZERATCY 7 MU o7 RMEICARSTNTLEN,

5. fc 31—t —fMEE D1 /7 k

IR 1—Y—ME

AYTRhDx7iE. BEFAVE2—FICBEIZ2EMAB L B EDL, EFL
PHEICHRADH 21— —THNIETEZICEA - ETHNTEDLSICHKETTN
TW3, ZDfc, EFLFHEICERISHNTED., EFIVE1—9%EH
UcETFEZESHEANDEDLDHZH, AHEHEDF>TLWEWE GEFEDREKR
EFIYE1—YDUEMLEEFIAENOEDLIDETRDICEID, ZOLSGE
DR 2—LFKELBE>TVWDEBDND) IO TEFMEHEEICLZERET
RILF—HEICHN, BERANLQTZITYVILEBRT SOOIV M) —R1 >k
EUTARY TN 7% FRIBDENTEDS, EANICIE. BEIFOLEIET
DERY. ELZH2>EANBKO—IRE UV TERTZIEZBELTWS,
Fre. RV T MUz 7E. A——BENRBICTFITYXLZIRRTEDLSIC
FEFEThTW3, 20, ERANGHA#ZR>I—f—THnid, XRSINiT
WIVZXL%ERESTZIET, REFEEHFLEORBE - SAEIXNEEZHLRT S
TEHDEHERAEEUVTIRY I Nz 7 2RI DI EHTES,



- HEZANDA VT

AY 7RI 7 ORBMERT 3T EILLBHRANOFIEL LTIE, HRTHAN
fe®h, BFAVE1—9 & ERLLETRHECHT 2MHE R OB EX
Brrickh. SBROBTFFILITUXLBAENSSICMES NG Z LA BTSN
%,

6. K& (FilE)
E BX (RPBREEBZMAR EL2E4%)

(%) B&EURL
githubJ /R MY : https://github.com/ymtz03/freqgerica



